Shift report

7-13 December 2023

CMS group



Stability Runs

Stability run registry Just one Stabilty run, mostly with source OFF

0198 2023-12-05 18:01 2023-12-13 11:39 7 days, 17 hours, 37 minutes ECO2 stability run... FINISHED

HVscan run registry

_ Select scan type 4  Select label % | Select status $)
lLuca —» 000709 2 Argon resistivity scan 2023-12-14 09:13 Ar ONGOING 23
000708 & Current scan 2023-12-13 15:05 ECOGAS2 FINISHED 23

000707 2 Current scan 2023-12-13 11:40 ECOGAS2 FINISHED 23
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HV current scans: RE TW-TN Chamber
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HV current scans: RE Bot - EPDT Chamber
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HV current scans: Kodel-H-Top-Bot Chamber
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Stability scan: ship - CMS Chambers

RE1-1-TN
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== \/oltage applied Last*: 1.80 kV == Current Last*:10.10 == \/oltage applied Last*:2.06 kV == Current Last*:0.36
RE1-1-TW RE1-1-BOT

12.00 kV
12.00 kV

10.00 kV

8.00 kV

6.00 kV

4.00 kV

2.00 kV | [
oV oV J 0

12/08 12/10 12/14 12/08 12/10 12/14
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Stability scan: EPDT - Kodel

EPDT-RPC25
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== \/oltage applied Last*:2.74 kV == Current Last*: 0 == \/oltage applied Last *: 2.74 kV == Current Last*:0.14




